Soccer Anchor Papers

Student A

« Based on the data provided for each student participating in the competition, which student won the
competition AND at what horizontal distance from the goal line did the ball hit the ground?
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= Justify your response with evidence to support your answer. . T
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With only a few minutes left, a fourth student joined the competition.

Student D - Another group of students tracked the path of the ball kicked by Student D determined by the
eqguation
h(d) = —0.02Bd? + 2.52d + 2.9 (Track of Soccer Ball Kicked by Student D)

which represents the path the ball took through the air, where d is the horizontal distance of the
ball from the goal line and h is the vertical height of the ball from the ground. Both distances are
measured in feet.

= Considering this new information, which student really won the competition AND at what horizontal
distance from the goal line did the ball hit the ground? ;
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+ Provide evidence that proves that this student won.
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Student B

= Based on the data provided for each student participating in the <competition, which student won

Student B -A group ofstudents tracking the path of the ball kicked by Student B determined by the the competition AND 3t what horizantaldistance from the goalline did the ballhit the ground?
equation Student B With ( ga,3i4, O)
h(d) = -0.0424% + 3364 + 8 (Track of Soccer Ball Kicked by Student B)
which represents the path the ball took through the ir, where d is the horizontal distance * Justify your respanse with evidence to support your answer.
of the ball from the goal line and & is the vertical height of the ball from the ground. Bath S-M (AOI'\+ A (El ) 15.8)
distances are measured in feet. 72,314 0) :
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Student C - A graph representing the path of the ball kicked by Student Cis shown, where the horizontal
distance of the ball from the goal line i represented on the x-axis and the height of the ball
from the ground is represented on the y-axis.

With only a few minutes left, a fourth student joined the competition.

Track of Soccer Ball Kic|
ked h‘f Student € Student D - Another group of students tracked the path of the ball kicked by Student D determined by
] the equation
h(d) = ~0.02Bd* + 2.52d + 2.9 (Track of Soccer Ball Kicked by Student D)
which represents the path the ball took through the air, where d is the horizontal distance

o of the ball from the goal line and h is the vertical height of the ball from the ground. Both
distances are measured in feet.
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2 & *  Considering this new information, which student really won the competition AND at what
horizontal distance from the goal line did the ball hit the ground?
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Distance from the Goal (ft) = Provide evidence that proves that this student won.
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